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^a = ArA . . . . . . . . 1.1

n% A = A2
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VWIRPI&  A =  A =  IAl = (A,2  + A,,2 + A;)“2 . . ...1.3 a

9196imm r = r = I r I = (x” + y2 + 29’2 . . ...1.3 b
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(A +  B) +C = A + (B +C)
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t=?dmwmfo  &rd6il o = -0,  A - A = o, A + o = A, 0 + A = A h&~

YJ~I  q ranms”  A
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flpJQ-3ld  (Law of sines) 40

A/sin 0~ = B/sin p = C/sin y

flg?6Q4’b~l%d  (Law of cosines) %I

A2 = B2 + C* - 2Bd cos  a

B2 = A2 + C2 _ 2AC cos p

C2 = A= + B-2 - 2AB cos y

........1.7

........1.8
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A.B = ABcos 4 . . . . . ...1.9
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94 0

~6W-l A.B =

cos $ =

A*B =
=

=

A =
=

=

B =
=

=

* cos cp =. .
=
=

4)  =
=

AB cos Q,

(A. B)/(AB)
(?+ 2i - 2k)e (& - 4̂ j - 2?()

4+a-4

8

(42 + Ay2 + A,2)'!2

[12 + 22 + (-29]"2

3

(8 2 + By2 + B,2)"2

[42 + 4*+ 25y

6

(A - B)/(AB)

8/[(3)(6)1

4/9

cos-’ 4/9

63.6'

ngh q uejnlsr?flluuualnalsij~~

l.A.B=B.A (ngnmla”El~>

2. A . (B + C) = A . B + A . C (n~n~mmu)

3. m(A * B) = (mA) . B = A . (mB)  = (A. B)m 690  m JlUtf~fIWl4
4*;.;+y&&1

;.p;.i;+f&o
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= A,B,(i  xi).+  A,B,(?  x 3 + A,B,Cj  x f)
+A,B,(‘j  x ?) + A,B,(j  x 3 + A,B,G x i;)

+A,B,(i;  x 1) + A,B,(j  x L)  + A,B,(k x i;) . . . . . . 1.12

olnngslesecnq~uuulanI~;loiO~~~~l

ix~=ix3=~x~=O

ix;= -(-J'i)  =^k
i

jxk=-(kxD=i

Xxi=-6xX)=3

*. . A x’B = 0 + A;B,lk  - A,B$-  A,B,k + o +A,B$  + A,Bj  - A,B,i +,o

= i(~p,  - A,B,)  + ;(A,B  X-  A,B,)  + E(A,B,  - A,B,) . . . ...1.13
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BxA  =

=

=

1 -1

-4; + 3; - ̂ k

:. -(B x A) = -4?- q+f;

&&A (Ax B) = -(B x A)

a
1,;

-1 2
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RTWJI~  (length)

ma (mass)

La81  (time)

n3~aziTrJo;jl (electric current)

g61anf?Swl~g~~wa~l~~~

(thermodynamic temperaturi)

~%XIKTIT (amount of substance)

nalu~b~6~Pisnls~oaail9

(luminous intensity)

LoJ@l5 (meter)

t%~f&  (kilogram)

%I; (second)

66ooJdnls”  (ampere)

INI% (kelvin)

ha (mole)

~kmmn~  (candela)
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wnl~  1 . 4  RlFpkm

10’8
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10'2

109

106

103

102

10

10-l

10-Z

10-3

10-G

10-Q

10-12

10-15

lo-'8

LOfl%z  (exa)

wm (peta)

nn:  (tera)

^ofl: (giga)

WA=  (mega)

fib (kilo)

mnb (hecto)

&xm  (deca)

66  (deci)

klCi  (centi)

SBZ (milli)

IuIn7  (micro)

Wlih (nano)

i&7 (pica)

AJ~ (femto)

G&l (atto)
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1

hplkh~Q¶J LCkmk?l~Q (@Y-a)

4 1

4 .o 2

4.00 3

3. 14 3

3.14159 6

254 3

250 2w40 3

2. 50 x 102 3

2. 5 x 102 3
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0.0001 0.015

58.00381 5.6673

eti=ln"w;d6M¶J7-flU = 58.0 = 5.67

51.4 7146 --
1.67 12.8

49.73 7133.2

wa~wr"dmaJ1zaaJ  = 49.7 = 7133
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” d4

HRBWli f-IQ 0.0102 vi% 10.2 x 10-S

.
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1.4

1.5

1.6

0a41 (n)J".  (d - 3; + E)

(u) (3T+ I&(2?  -3

FlQY (n) -3, (91) 13
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1.7 hud=t!  A =? + 4;  - 2^k  ua= B = 2;  - 4 - ii

own (n) A x B (%)BxA

rnb¶J  (tl) -10; - 3;  - I&, (41)  lo?  + 3;  + ll^k

1.8 fhudti A = -? + 3:,  B = 3:  - 27  11n:  C = 4:  + 47

Owl  (n)A  x(B  + C)uaz  (A + B)x C

(PO  A -(B x C) LLRZ (Ax B).C

FlWJ  (fl) -232,  4k (u> 0, 0

~WI (n) A LLRE B (91) IA + BI (n> IA - BI
neu(n)A=8~+5~+7&B  =3:-67-$

(91)  12.;2 (n)  15.07
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